* PasBe Tbl He 3aMeTH1J1, YTO
CMOCO6HbIM K MaTeMAaTUKE
M30LLPEH BO BCEX HayKax
B npupoae? ([aaTtoH)



MaTeMaTU4YeCcKum
OUKTAHT



BapuaHT 1 BapnaHT 2

1. 3anmwumTte 1. 3anuwumTte

popmyy popmyny
CMHYCa KOCMHYCa
NIBOMHOIO IBOMHOIO

yrna. yrna.



BapuaHT 1 BapnaHT 2

2. Ynpoctute 2. Ynpocture
BblparKeHue:  BblparKeHue:

Sin55%Cos5%+  Cos25°Cos20°-
+Sin5°Cos55° -Sin259%in20°




BapuaHT 1

3. 3anuuuTe
popmyy Ans
HaXOXAEeHUS
KOPHEN
ypaBHEHMA:
Sint=a

BapuaHT 2

3. 3anuwumTe
(bopmyny Ans
HaXOXaeHUA
KOpPHEN
YPaBHEHMUA:
Cost=a



BapuaHT 1 BapnaHT 2

4. Pewnte 4. Pewwute
YpaBHEHMeE: YpaBHEHMeE:

tg2x=-1 Cos3x=0




BapuaHT 1 BapnaHT 2

5. lonnwumnte 5. lonnwmnte
popmyy: popmyny:

Cos(a +B) = Sin(a -B) =




B3anMonpoBepKa



[lpoBepKa AMKTaHTA

BapuaHT 1 BapnaHT 2

1. Sin 2a = 1. Cos 2a=
= 2Sina*Cosa =Cos?a - Sin‘a




[lpoBepKa AMKTaHTA
BapuaHT 1 BapuaHT 2

2. 2.
Sin55%Cos5%+  Cos25%Cos20°-
+Sin5%Cos55%= -Sin25%Sin20°%=
_Sin600=Y2 =Cos(25%+20°)=
: V2
2




[lpoBepka AUKTaHTa

BapnaHT 1 BapuaHT 2
3. Sint=a 3. Cost=a
f = t=tarcsina +

=(—1D"arcsina+ +2mn,neZ
+7TN, NEL




[lpoBepKa AMKTAHTA

BapuaHT 1
4. tg2x=-1
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ne/

BapnaHT 2

4. /C§3x=0

Z%S“Jﬂ+nn

neZ

L
x = =,
6 3

nes




npoBepKa ANKTAHTA
BapuaHT 1 BapuaHT 2

5. Cos(a +B) = 5.5in(a — B) =
= CosaCosf — — SinaCosf —
—SinaSinf  _ CosaCosf




Kputepun oueHUBaHUA:

1.BepHO BbINOJ/IHEHO OUeHKa
5 3a4aHUMU 5
4 3a4aHUA 4
3 3a4aHMSA 3
MeHee 3 3aJaHUM 2



BCNOMHMM aNirOpUTMm
pelleHunA
TPUTOHOMETPUYECKHUX
YPaBHEHMMU.



Pa6boTa B napax

Ne 11.16 B,e
Ne 11.19 6,B




Pewure
YpPaBHEHMHeE:

Sinx +Cosx=0;

Sin23x +4Sin3xCos3x+3Cos23x=0



OaHopoAaHble
YpaBHEHMS

Sinx + Cosx=0;

Sin23x +4Sin3xCos3x+3Cos23x=0



3aKkpenjeHue:

Ne 11.26(6) - paboTa B napax
Ne 11.276,1,e
Ne 11.29(a,6, r-e)



3afjaHMe Ha AOM:

[MoBTOpPUTb (hOPMY/Ibl KOPHEU
TPUrOHOMETPUYECKUX DYHKLMUM,
¢opMyJibl MOHUXKEHNSA CTENEHM,

bopMy bl IBOUHDBIX YTI/10B.
Ne 11.268,e€,
Ne 11.298B



